RiClients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 15215\C - Drawings\Current\FL-15215.11-.20.dwg, FL-15215.15

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

ONELITE SERIES

FLUSH GLAZED FIBERGLASS DOORS
w/ SIDELITES
INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition (2014) Florida
Building Code (FBC) structural requirements excluding the "High Velocity Hurricane

Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment

to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product complies with
Section 1609.1.2 of the FBC and does not require an impact resistant covering. This
product meets missile level "D" and includes Wind Zone 4 as defined in ASTM E1996 and

Section 1609.1.2.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that

shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering

analysis by a licensed engineer or registered architect.

37.50" MAX. FRAME WIDTH

149.00" MAX. OVERALL FRAME WIDTH

| 74.00" MAX. FRAME WIDTH
|

82.00" MAX. OVERALL

FRAME HEIGHT - INSWING
80.50" MAX. OVERALL
FRAME HEIGHT - OUTSWING

|

v
INC

“
BUILDING CONSULTANTS,
813.659.9197

P.O. Box 230, Valrico, FL 33595

Phone No.:
FBPE C.A. No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Documents Prepared B

, DESIGN RW

PLASTPRO INC.
FIBERGLASS DOOR
TYPICAL ELEVATION
PRESSURES & GENERAL NOTES

PRODUCT:

JK | PART OR ASSEMBLY:

RW
BY

REVISIONS

2 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC
2/27/13 |REVISED GLAZING DETAIL

TABLE OF CONTENTS
SHEET# | DESCRIPTION

1 Typical elevation, design pressures, & general notes
2 Door panel details L
3 Sidelite panel details p
4 Horizontal cross sections _
5 Vertical cross sections 19
6 Vertical cross sections oATE: 02,/15/12
7 Buck anchoring INSWING  [149.00" x 82.00"| 26.25" x 65.93" | 7.00" x 65.93" +50.0 -50.0 SE  NT.S
8 Frame anchoring 2x buck masonry construction Gli i - JK
9 Frame anchoring 1X buck masonry construction OUTSWING [149.00" x 80.50"| 26.25" x 65.93" | 7.00" x 65.93" +50.0 -50.0

10 Endura astragal details E:"ms: — LFS

11 Bill of materials, glazing detail & components Fl—15 2 15.15

SHEET _1 oF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNDOJ aNIaging "Mm*'d> 2102 (®)

€L86 'ON 'V'O 3d84d SNOISIAZY
L6L6°6G9°CL8 ON euoyd A8 31vd_[ON| o~ O =
. . o m < - . - han
SBSES 714 ‘OOHIPA ‘0£Z Xog "O'd § W30 13INvd 4000 M V30 ONIZY19 a3siAFd| si/zz/z | b || |X|2] & _
o.a.. _.m.rzﬁ._:wzoo oNIaTINg g ‘A18W3SSY ¥0 Lavd | wr 084 (¥102) "a3 HIS ol 3uvadn| si/zz/%a ¢ |2|=| |7 S| S
W3 N/ NRAREER
O3 \Q..o\\\ 60vEy 'ON ‘I'd 4000 SSV19434l4 ofl.|l=a|&|g |
D Aoy O %, IPIWYDS 4 UOPUAT "ONI 08dLSV1d wldle|le|E | B
SPqailsiy — TEIH B
S ; :110NA0Yd S[3|13|35|8 &
] \

Hipaw o

O 2

oz

Ll

-

>

L

//
1
//
4
//
1
//
/

/
\\
A\
\\
W\

39

@)
N

m VERTICAL CROSS SECTION

\2/

__mNo _. —

T 7' =

r ubS’1

1

LATCH & HINGE STILE

Wood reinforcement

Cellular PYC

g

n
@ LATCH & HINGE STILE
(@)

1.19"

T

—— 66"l ——

44 LOCK REINFORCEMENT
Wood

INTERIOR
EXTERIOR

7“1\ HORIZONTAL CROSS SECTION

) :m_.._. Bl == ..m_.._. —" .
S Q ——  Ilo
e Mb I : olks]
o~ B Bl =2 5 | g3
Ml g lfs T | QS
« T
20
=z
{0
o -
e @
» A .
////I

35.75" MAX
DOOR
PANEL WIDTH
e —
/
X
/
VA
D

/
@ DOOR PANEL

[e—

D
_i IHOIFIH 'O 1A XYW .£6'99 —

~<——IHOEH 1INVd d00QA XYW .5C' 6L —

ST 'BMPOZ-TT'STZST-14\uaund\sBumelq - D\STZST - 14\s|erosddy 1onpoud epLojd\LNINYINY U] ‘0udise|d\siuaiD\y



"ON|] SANVLINSNOJ aNIaling ‘Mm°'s 2102 ©

£186 'ON 'V'D 3dad SNOISIATY
L616°6G9°CL8 "ON suoyd A8 31va TON]| v O |~
S6SEE 14 ‘O9UIDA ‘0£Z Xog °O'd § SIvI3a T3Nvd 3LM3aIS M WVI3d ONIZY19 a3siAgd| si/zz/z | L ||| X|L2] M_
*ONI ‘SINVLINSNOD 9NIaling @ *ATBN3SSY d0 L8vd | Mr 084 (v10Z) '@3 HIS Ol 3lvadn| siL/zz/+0| Z w W — v NN_ o
NS S W I
60vEy ‘ON "3'd 4000 SSY1943814 o & &8 | _
IPILYDS 4 UOPUAT ONI OddISV1d w2 elwlE2|B
%, Y% :Ag peandeld sjuswinoog :10NAodd S|3(8|5 m &

@)
EXTERIOR

7
//
—/
/i
/4
//
7

\\

W
\\

W
|~

7“2\ VERTICAL CROSS SECTION

@)

39
INTERIOR
@)

i N Lo Ho = =)
—- : f L 33 - 661 g8
k M
o~
™
=
Q
[ =
e
L_// “
1 9
o o bOn
o o o
o o
= S |
B - m = :m”_.._. [~ — :m_._. j,—
// = o S— <o
" S T £ =
= N Mm & el mm
=2 ole — oo
\\@ mw \*]’ ~|O \+v' 23

1 /4 s
25

// =3
"~ QO
@ O -

35.75" MAX.
DOOR  ——
PANEL WIDTH
/
O
D
@ SIDELITE PANEL

X

[

D
—~—— IHOIFH 'O T'A XYW .£6'G9 —

—~—— LHOIFH TINVd 400Qd XYW .5C'6/ —

S'€ 'BMp'OZ-TT'STZST-14\uanD\sbuimeig - D\GTZST - 14\s|eroiddy 10npoud epliold\LNINVINYI U] ‘oidise|d\siualD\y



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FI - 15215\C - Drawings\Current\FL-15215.11-.20.dwg, 4.5

1-1/4" MIN.
EMB. (TYP.)
1-1/4" MIN.
SEE EMB. (TYP.) '
A 1 (D NOTE 1 ]
. - SEE e
W 22)\orE 1 S
NN (50) INTERIOR .
dl X
i g \/
v )
v Y EXTERIOR (1N
C DR N
g ‘J 0.15"
LRI <— C'SINK
P 0 (TYP.)

m HORIZONTAL CROSS SECTION

m HORIZONTAL CROSS SECTION

W Outswing shown - inswing

also

approved

W Shown w/1X sub-buck

NOTE:
1. Sidelite panel secured to the sidelite frame with (4) of item
#22 located 10", 30.5", 51" and 71.5" from top of each jamb
and (2) of item #22 in the head and sill 3" from each end.

S?)ETE 1 2. As noted in the test report astragal was attached to the
@ inactive leaf with (10) #8 x 3" psh sms and (4) #10 x 2-1/2 pfh
sms for all 6'-8" (outswing). Astragal was attached to the
inactive leaf with (9) #8 x 3" psh sms and (4) #10 x 2-1/2" pfh
sms for all 6'-8" (inswing).
. 7
(40) INTERIOR
6
: \ \\\\\\\;\’\\\\\\\'\\\\\\\\\\\\\, §
)
&
D@ Pw o ®
SEE
- EXTERIOR @ p—

7“2\ HORIZONTAL CROSS SECTION

m HORIZONTAL CROSS SECTION

w Outswing configuration

w Outswing shown - inswing

also approved

\
S
S AT 0
ST g "
S H 25
= !9 G .
= .‘._9 E oo
-~ W". <Z( g oM
2 > HFo8%
Z, 52> A0
%, 5 271
1y \ LK
,”'“ a>]’, ') R . z
§fa §%¢,
: PN, LN
R Do
X q s
E 5=
/ / ¥ 4 0 i
Va Y ‘|8> Vi Va A _c>|‘:.J
O X X OV 2
2
v—l _ .% %
O
4 on 8
%) > &
/) / / / o =
4/ Va | 7/ Va u'?§ < 3
/ v / / / DS-HSI L%J §
B T B
4 D q 3] ol N
) o o
S E| T
3 4 (3 4) = 5
& & NYNY, o
O
(20) !
¥
SIE o
|a| £
o @
L) %) %)
SEE =g =
NOTE ] ////////////‘////7////// e n 5 &J
o0
=
(40) e
EXTERIOR . <|2
59
™~ n ™M
< 0|1
NNE
N NNGE
o
INTERIOR ol g
DATE: 02/15/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
m HORIZONTAL CROSS SECTION DRAWING NO.:
\4/ Inswing configuration FL—15215.15
SHEET _4 oF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaing "M°'d 2102 @

€186 'ON V'O 3dad SNOISIATY
L616°6G9°CL8 "ON @uoyd A8 31va [ON]| oy D=
G6SST 14 ‘OSUIDA ‘OSZ Xog ‘O°d S SNOILO3S SSO0HO TVIILYH3IA e V130 ONIZVI0 G3SiATd| £1/22/Z | ¢ ﬂ %) M m _.M 1‘_
*ONI ‘SINVLINSNOD 9NIaTIng @. ATBW3SSY ¥0 Lavd | wr 084 (v102) "a3 HIS 0L 31vadn| Gi1/zz/+0] z |2 = b 5
N ms,i
60¥CH ON “T'd 4000 SSY19434l4 S| |&lsle T

IPIWYDS 4 UOPUAT ‘ONI O4disvid @2 elx|E |8
*e WA 7-:Ag peupdeld sjuswinoog :10NAaodd W m I W %

£722 4

("dAL) "an3
NIW .#/1-1

INTERIOR
[N

=
o
[ =
QO
[T}
sn
pedlke]
< JP=
.
S mm
S 2[5
= Ul o
= = 274 _Dln.m
Q £
/ Ek L i
a5
o]
S
(¥
SIE
v K|
wl ©
O ¥is
=
3 (o)
("dAL) "aw3
NIW .7/ 1-1

("dAL) "aw3
"‘NIW #/1-1

("dAL) Clae
~—ANISO . 3
:m_..o @ .bu 0 s

_®

o o
©) = O =
e Q o o

[ -
z Qo z &
a3 95
a8 _ 3|5
Ol Q3
&l St
~ ] Sm =1 O
S22 S|2
=|so =2
m59 | ms
>|0T >0
oz (84 a
TR o@D
& 5 ®
ﬂ a - - L
<//
("dAL) “aw3
.Z_E__V\_.l_.

'S ‘BMPOZ-TT'STZST-T4\uand\sBuimeq - D\STZST - 14\s|eroiddy 3onpod epLOIA\LNINYINYId U] ‘Oidiseld\siualD\y



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 15215\C - Drawings\Current\FL-15215.11-.20.dwg, 6.5

. < A < a =
E ‘ R R -
LA :
< . o - Q
a : < Y
a : v
.9 v > a
= < M a <
D . - = .
BN a

@
L M
\\{:>$;H
O ®

EXTERIOR 7 INTERIOR

m VERTICAL CROSS SECTION
w Outswing shown - inswing

also approved

EXTERIOR INTERIOR

@ NO?I?E]@
@

z
= = &
< : . . A . >
. “ <. 4
a : - ) g
. . a a° .

<

/3 "\ VERTICAL CROSS SECTION
w Outswing configuration

1-1/4" MIN.
EMB. (TYP.)

NOTE:

1. Sidelite panel secured to the sidelite
frame with (4) of item #22 located
10", 30.5", 51" and 71.5" from top of
each jamb and (2) of item #22in
the head and sill 3" from each end

1-1/4" MIN.
EMB. (TYP.)

—©
= M
@ \@ilEcsTE 1

O ®

7 INTERIOR

EXTERIOR

/“2"\ VERTICAL CROSS SECTION
W Shown w/1X sub-buck

EXTERIOR
//

SEE
NOTE 1

/“4 \ VERTICAL CROSS SECTION

W Inswing configuration

n
o
)
)
%l’)
=
Lo
N .-
292
I3
4;«)8
= )
0 L2
Ow o
b en®2
b O N -
m_u O<‘
'0:9 0520-
EEO’ .z_.mo
2 co 9 . cw
oy 592&
R 4 Do
2w,
c 0o
o C
E 6% §
3 0 .
o su
o 2a ai
[9p)
=
o
(hd —~
; O
e e
20 o
)
own | ..
x0n |5 8
LY |3 =
~ m
o2 |3°
S ||
om 0l <<
gl R S
= DCE
(&)
2 oY
S e
& 5
x>
S|
8
L
<
=
oI
N et I (%)
.1al |12
[a) (@]
Lu(és a
SN
U‘Jg o
e
w|R
=Zln
< |2
o
gD
Sl
n M
N
NN E
NNE
O O
i (o)
N[TI=
DATE: 02/15/12
ScALte:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15215.15

SHEET _6 oF 11

@ 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 15215\C - Drawings\Current\FL-15215.11-.20.dwg, 7.5

S

AL

L 19" MAX. _»‘
0.C. (TYP.)

T ITiTt it ITIT T

i | ]

1] 1 1]

— TYP. HEAD

& JAMBS ] | i
MASONRY T SEENOTE1 —

OPENING ] | ]

||

] ASTRAGAL |

| ' AND ‘

| MULLIONS 1]
L | SHOWN FOR | _l

] REFERENCE [

I o I

EEUE, | 1] | 1l
L ] I 1] il

— 1] I 1]

35 1] I 1]

= ] I 1]

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

I CLEARANCE

ITw

1apcon® | 174" 1-1/4" 2" 4
ELCO " " " "
uttRacon®| 1/ 1-1/4 1 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

\
N
N
>
S 8
5§ :
5354 gn
:O:E Zd'\
= A Lo
=203 2o
- % Z O .
D83 Zig?
7 " . D oow
// '~-o..\-" 'D \\\ a > Fi o
” e
1y, PRI ZJbg
Hin \EE; SN -
- [
O X 3
\E:E zcgzo
nNls E@ 00
N[EES Zg68
50
‘EU)n 2 YLem
by ¢ Dodow
L
c o}
[}
E 6% §
3 U .
g cul
o Jo

o
J &
g8 | £

@
e | =
o
xOn | O
[ ] =
E o <
n©O >
SQ: Wl X
L 1S
CLQ\: ()] S
o < @
(2

O

= o

o e

@ <

o o

x|=
SR
8
L
;\J
oI
N et I (%))
el (£
o (@]
L —
= |
ZN 3
U)é o
e
w D
1%
oS
a |
S|
n ™M
N
NNE
}\Q
ON i
O
N[TI=

oATE: 02/15/12

scal:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15215.15

SHEET _7 oF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 15215\C - Drawings\Current\FL-15215.11-20.dwg, 8.5

. § T % 45..T s T
o i By - T 48— =
T ey B 7 NN
Ii P l l T\ T 1 {1 | T 1
- 7 I T f
D EB foa I SEE DETAIL f .
] TYP' | l n2u o) 2
N\
5 MASONRY | [= T HEAD & I 7
OPENING ||
- ASIRAGAL || B
1 H3- FRAME [l &DWNRR_/ﬂl s 14 ﬂ
REFERENCE I zE X T
- ONLY %, e :
5 2X BUCK 1 — O G i
s | [ = /
- _ - I/
= " | @
1 m Lo SEEDETAL — || TYP. @SSILL <::)\\\
x 7@
| A “. : % J ®/';. E %'\
= & N ®
HINGE JAMB FRAME ANCHORING ASTRAGAL STRIKE JAMB Y/
Masonry 2X buck construction L
// HINGE DETAIL
D
CONCRETE ANCHOR NOTES: NS [I - ﬂ ~_
1. Concrete anchor locations at the corners may be adjusted to maintain the min. [ /° ° ™
edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo ”I
maintain the min. edge distance fo mortar joints, addifional concrete anchors DETAIL 2
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. LATCH & DEADBOLT DETAIL —_—
3. Concrete anchor table:
....... e |
ITW " " " " \{‘ s - = | Iy @
1apconN® | 1/ 1-1/ : 4 T =3 = .
ELCO " " " "
uttRacoN®| 1/ 1-1/ ! A )%
ITW " 11 1l "
TAPCON® 3/16 1-1/4 3 1-1/2
WOOD SCREW INSTALLATION NOTES: DETAIL 1 DETAIL 1

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

Inswing configuration Outswing configuration

n
o
o)
)
oM
z
__|'\
it
g2
., <'c%2
. l__
* 1 00w
3>,,50:
' D 252,
0o
Wi gm®z
® ON;_.; ,
)
SBE 9325
N5 Eo F0o
Slese 2ok
o ) 50r-¢
b" o _Q Dooe
2
(¢}
o C
E 0% §
3 0 .
e su
o 2o @§
g
Q=
ne
o S
S I
=2 o
=0 Oa
=
n |o 2
8(0 A o
Ay |@ [OT&)
[ s| T
még Gl O
S5 |9 =X
Tm |2 %5
e [ Wich
5 X =<
= £=
el & "
& 5
S&
8
L
TN
<+
5£
<
N ot I (9]
ol |Z
o (@)
L:.l(Z_'> 7)
=Nl
U)g o
EQ
S
<C |
gD
S|
n M
N
NN
}\Q
DN .
~|-IS
DATE: 02/15/12
ScALe:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15215.15
sHEET 8 oF 11

© zo12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 15215\C - Drawings\Current\FL-15215.11-.20.dwg, 9.5

2 IR ﬁ/ ! ] 1

T T I T T 1 \u{t 1 l
. — ] T
B S ||\ SEE DETAIL f
e TYP. Il ll2ll o)
g |l MASONRY | | TYPJ' /,':'5@? & ||
OPENING I
—~  ASTRAGAL | —
3 FRAME-"" | SHOWN FOR le | Lz
REFERENCE iE
- ONLY 1 G
- 1X BUCK\ [l —O
. ||
= B ||
1 EEB S SEE DETAIL I TYP. @ SILL
<« 7 d ||]n
. = ||
HINGE JAMB FRAME ANCHORING
Masonry 1X buck construction
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

“CLEARANCE
=

P
W

TAPC0N® ‘I/4ll 1_1/4" 2" 4"
ITW " " | b

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

|
4.5u ‘»l

L
o]

<o

<

SE

o

® 0 /
1 7i

-

T {%
I m I D)L} .K:
@/ \ﬁ?@

Nr

ASTRAGAL STRIKE JAMB A
HINGE DETAIL
N - o NS
//
DETAIL 2
;
iﬂ |
E.
— =
I ‘ 7 o/'L ) [ ]
7 \i :
LATCH & DEADBOLT DETAIL
DETAIL 1 DETAIL 1
Inswing configuration Outswing configuration

0
)
in
.M
oM
z
Z
Lo
0 .
g2
<'cf(”)2
'__.
2348
2 i
Ow o
on®2
O N -
& s
b o xz%
‘c Z 90O
Ea 0o
£ o =5 .cu
O < =poon
(0} 2D S Lm
¢ Mmoo
LI_.
o
(=
6% §
T .
cu
2 @§
X
D=
o
o S
G 5
= &
=0 o=
on | 22
x0 |5 Xo
&5 o g(_)
no |3 S
S5 |0 =2k
Tm (2] %8
B L Wiy
13} g =<
= =
e g™
& &
X |-
S|x|m
3
L
—~
2
5:‘
Q',E %)
I 4
B
glo| 2
-|E| £
=N S
né L
e
w|
Zln
<|¥
()
[
S|
n ™M
NN
NNE
N
O O
~|-[S
DATE: 02/15/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15215.15

SHEET _9 oF 11

© 2012 R.W. BUILDING CONSULTANTS ING.



TOP

A-A

\
QU
LATCH (BLIND HOLE S & 10
5.50" ( ) S S\Q @
- . M
DEAD BOLT (THRU HOLE) = 55%’ g5
\ 33.125" i 298 e
=, \v‘ % .?_’ g "
i ., i 0 - O° : ° : e %,? D58
- 7, "
/, m - T .
l~— 250" m ”? \ 8§am2
2 50“ AL s‘ 0 N .O: .
: — 3.63 -8 ox2%
1" 2 EO) Z m ()] @
1 10.50" — 2o 9 .cuw
[ 0 < oo
1" 1 o 28] 2 = c£m
1875 | | 18.50 > '3 poal
26.75" 26.50" g 52 §
5 * 3 TV
=
=
S 4
<
o 5
o) [
Sie}
= —— - x 235 =
[ O o mm— T O] | = ou |, S
6'8 ALUMINUM ASTRAGAL ASSEMBLY & o <
By Endura Product i
S 2| W
14 <C
=O o o
B
T a-‘ 1.63" r« 312k
QY 2
LL
=
SIE| v
42 ). BOTTOM BOLT RETAINER <o 5
MATL: 9-3/4" Aluminum Wl o
. =g 5
S VIEW A-A 5 5 -
o i o
19.63" /l/ Vi Aluminum Astragal Assembly : N
i < t
¢! | 2|3
=== O
T
= = \ \ LLI
SLIDE BOLT ROD 3 3 NN
J ‘ . |<7 o O
TS —=
oATE: 02/15/12
1.75 }7 scalE:  N.T.S.
TOP BOLT RETAINER ko N
ALUMINUM ASTRAGAL ‘— o LFS
55 5y Endura Product MATL: 9-3/4" Aluminum E::Mz; -
FL—15215.15
SHEeT 10 oF 11

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 15215\C - Drawings\Current\FL-15215.11-.20.dwg, 10.5

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 15215\C - Drawings\Current\FL-15215.11-.20.dwg, 11.5

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL _|ITEM| DESCRIPTION MATERIAL
A | 1XBUCK SG >=0.55 WOOD 20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
B |2XBUCK SG >=0.55 WOOD 22 | #8 X 2" PFH WOOD SCREW STEEL :
C | 1/4" MAX. SHIM SPACE - 27 | LATCH STRIKE PLATE STEEL .
D |1/4'X2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL 28 | DEADBOLT STRIKE PLATE STEEL 2,
£ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE |27 [ SIDELITE SPACER PvC “
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 30 | WEATHER-STOP 3647 HOLM INDUSTRIES VINYL
F | 1/4"X 2-3/4" PFH ITW CONCRETE SCREW STEEL 31 | OUTSWING BUMP THRESHOLD ALUM. / WOOD
G [3/16"X3-1/4" PFH ITW CONCRETE SCREW STEEL 33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
| | 1/4"X2-1/4" PFH ITW CONCRETE SCREW STEEL 34 [INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
J | 1/4"X 3-3/4" PFH ITW CONCRETE SCREW STEEL 35 [ SHOE MOULD 5/8" X 3/8" WOOD
L | #10X2-1/2" PFH WOOD SCREW STEEL 38 | GLAZING SPACER ALUM.
M | #9 X 2-1/4" PFH WOOD SCREW STEEL 39 | GLAZING BEAD PVC
N | 3/16"X 3-1/2" PFH ITW CONCRETE SCREW STEEL 40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
O |3/16" X 1-1/2" PFH ITW CONCRETE SCREW STEEL 41 | DOOR SKIN (MIN. 0.095" THICK) FIBERGLASS
1 [#10X2-1/2" PFH SMS STEEL 42 [ TOP RAIL CELLULAR PVC
2 | #8X3"PSH SMS STEEL 43 | LATCH & HINGE STILE CELLULAR PVC
3 | FLUSH BOLT STRIKE PLATE STEEL 44 | LATCH & HINGE STILE SUPPORT WOOD
5 [#10X2"PFH SCREW STEEL 45 | BOTTOM RAIL CELLULAR PVC
6 | SEALANT SILICONE 46 | POLYURETHANE FOAM POLYURETHANE
7 | Q-LON 650 WEATHER STRIP SCHLEGEL FOAM 47 | LATCH & HINGE STILE WOOD
9 [ 4"X 4"BUTT HINGE STEEL 49 | GLAZING COMPOUND DOW 995 SILICONE
10 | NOTUSED - 50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
11 | #9 X 3/4"PFH WOOD SCREW STEEL 55 | ASTRAGAL BY ENDURA PRODUCTS ALUMINUM
12 | #9 X 2" PFH WOOD SCREW STEEL 57 | SLIDE BOLT ROD STEEL
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL 61 |9-3/4" LENGTH TOP BOLT RETAINER ALUMINUM
18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL 62 | 9-3/4" LENGTH BOTTOM BOLT RETAINER ALUMINUM
* 456" R 4.68" ‘
: X ] _
| \ ]
_ — L _ A 1"NOM
* | 2.44" | 213" T T 5" GLASS GLASS THK.
37" OUTSWING BUMP THRESHOLD BITE l“ | TEMPERED
‘7?538 4 SIDE A= . GLASS
~ AIR SPACE
| 568 b
" 1/8" ANNEALED GLASS
—T— 456 [} N 0.090" DUPONT
- BUT”ACITE PVB
q @ ’\//I‘/—LI | § 49 38 1/8" ANNEALED GLASS
1

ADJUSTABLE INSWING THRESHOLD

33

G1

GLAZING DETAIL A

@ ADJUSTABLE INSWING THRESHOLD

n
)]
0
)
oM
z
S
i
-‘_
282
= O)
. S T
> J 0o
S 27
DS 7]
\» Z oo
W om®
u>1~v (.)Ng
v O ogz
0 Zm
§ Eo {0
268 3.8
fo,m 5Qc¢
4 mDaon
g
]
o C
E o< L§
3 U .
g su
o 2o

FBPE C.A. No. 9813

PLASTPRO INC.
FIBERGLASS DOOR

PRODUCT:

BILL OF MATERIALS, GLAZING
DETAIL & COMPONENTS

JK | PART OR ASSEMBLY:

RW
BY

2/27/13 |REVISED GLAZING DETAIL

2 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

1

REVISIONS

=
<
a
o
z
2

ATE: 02/15/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15215.15

SHEET 171 oF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



